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Quantitative Methods
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First Year, Examination, 2017

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. Give the various definitions of Statistics. Give the

importance and uses of Statistics in various fields.

AiRard! @ A= gR¥Y <ife | |ikes & Agd
g faf=1 &3l # 98 TN W YT S1fey |

2. Explain clearly the concept of Logarithmic and Partial
differentiation. Give their uses in Economic theory.

AYUDR Ud AR Sfgeber $ fcrdl bl [ RRYdd
AT | e SMId SNl W fewoll forfay |

3. What do you understand by Correlation ? Give the
various methods to measure correlation. Find the

coefficient of correlation between ages of husbands
and wives from the table given below :

Husband Wife
27 23
31 25
22 19
25 24
28 23
26 24
28 22
26 21
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DIV :
ufa Ll
27 23
31 25
22 19
25 24
28 23
26 24
28 22
26 21

4. What are Index Numbers ? Give the various tests used
for index numbers. From the data given below find :

(@) Laspeyre’s
(b) Paasche
(c) Fisher Index No.

) Base Year Current Year
Commodity - - - -

Price | Quantity | Price | Quantity

A 2 7 6 6

B 3 6 2 3

C 4 5 8 5

D 5 4 2 4
B-73 P.T.O.
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i dHd | AR | AT | HE
A 2 7 6 6
B 3 6 2 3
C 4 5 8 5
D 5 4 2 4

Section-B / Yrs—g
(Short Answer Type Questions) / (eTg] ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

Al wug @ # A6 (08) Y I U fd W
TAG Y b fou oMo (08) ofp fwiRa
fRrEiRI @ $H W dad IR (04) Tl & IR <
gl

1. Write a note on Functions ? Explain the use of

functions in Economic Theory.

Beld A T R TH3 & ? 39 W fewo) :ifru|

3 Rigrd § el & YN Jargy |
2. Write a note on Linear Programming.
g G W Ue fewel ol |
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3. Explain Cobb-Douglas production function and throw
light on its uses.

PIg-STerd IcUTe B dI FHSI gY 59 YN W
JebTa SIfer |

4. What do you mean by Central Tendency ? Give the
various measures of Central Tendency.

Ha1d YgT | MU R TS © ¢ b UgRT i

fafe= A9 & IR ¥ JaRy |

5.  Write a note on interpolation and its use in economic
theory.
IO g e Rigrd ¥ 3P WM W Th
fewqoft forfay |

6. What is a Time Series ? Give the various components
of a time series.

BT 9ot |7 2 ? B 9ol & O gl & aR A

91y |
1 2 1
7. If A=|1 -1 -2/, thenfind AL,
1 2 -1
1 2 1
e A=[1 -1 -2, a1 Al 99 I
1 2 -1
8. Write a note on Input-Output Analysis.
NTa-fota AR fageryor W e fewelt faRay |
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Section-C / Yvs—TT

(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc . @ue T ¥ g9 (10) TS T A W g | I_®
T & forg e (01) 3 fuiRa 21 39 wve @
Y oo afard € |

1. BarDiagramisa:
(@ One-dimensional diagram
(b) Two-dimensional diagram
(c) Three-dimensional diagram
(d) None of the above
qUE [ ©
() - o

6
2. If the value of the determinant ) is eight (08),

thenyis:
(@ 1
(b) 2
(c) 0
(d) 3
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) 1
)
9)

) 3

N

o
o

1
3. The value of IOl(j—XX is:
_+_

(@ log2
(b) log (1 +Xx)

1
(©) @

1
log (1+X)

L ax ®T 79 BT
01+x
(3) log2

@) log (1 +x)

1
(%) Tog2

1
log (1+X)

(d)
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4. The roots of the equation x2—x—20 are :

@ 4,5
(b) —-4,5
(c) —-4,-5

(d) None of these

TR X2 —x—20 & qol BT :
@) 4,5

@ —4,5

(@) —4, -5

@) AP

5. The necessary and sufficient condition for Minima is :
2
(a) dy =0, %y <0

dx ax2
2
0 %0 2
(c) %>0,3—ZZZ
2
0 8021
fafers & forv smawe 9 W o B @
@ Yo z_zzy<o
2
@%;%ﬁo
) g¥>a-g%:0
@) %w, ‘;_;y-
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6. The mean and median of a distribution are 15 and 14
respectively, then the mode is :

(@ 13

(b) 16

(c) 17

(d) None of these

gfe fpedl Aol  Hieg 9 Afeadn & qed HA: 15 G

14 B, O gD (IS®) FT A BT -
(@) 13
@ 16
(|) 17
(@) T & Big TE
7. What is the chance that a leap year will have 53
Sundays ?

(@)

(b)

(c 0
(d 1
forddy oNg af & 53 fIaR B B WRBar B

(®)

~NIN N

—~
)
e NI SN

GE)
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8. If by =—04and by, =-09,thenr=
(@ -0.6
(b) 0.6
(c) .36
(d -0.36
A by =—0.4 TAT by, =
(&) —o06
@ 06
(@) .36
(&) - o036

= 0.9, @ r &1 | 8T ;

9. For a normal distribution :
(@ Mean > Median > Mode
(b) Mean < Median < Mode
(c) Mean = Median = Mode
(d) None of the above
A §ed & forg
(&) ey > AtaSdT > qgolD
@) #red < HIigeT < 98D
(@) e = HiigeT = 98D
@) Swa ¥ QP T
10. Increasing in the sale of jewellery during the marriage
season is an example of :
(a) Seasonal Variation
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(b) Cyclic Variation

(c) Irregular Variation

(d) Trend

ot & AN S @ Ry geT fiefRad ¥ 9
feheaT JSTERYT &

(1) W faeRoT

@) =g AR

(@) orFafa uRads

(€ s

MAEC-104

B-73

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

http://www.uouonline.com

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

